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2. This paper consists of fifty multiple-choice type of
questions.

3. Atthe commencement of examination, the question booklet
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(i) To have access to the Question Booklet, tear off the
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open booklet.

(if) Tally the number of pages and number of questions
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1. Candidates are required to answer all the 25 questions in Part-I, which are
compulsory. They should also select any one from Part-II and Part-IIT and
answer all the 25 questions of that Part only. Each question carries two

PERFORMING ARTS — DANCE / DRAMA / THEATRE
Paper — 11
SPECIAL INSTRUCTIONS

marks.

2. Candidates are required to mark clearly on the OMR Answer Sheet, the Part

Number which they have selected.

PART -1

Common to Dance / Drama / Theatre

1. Match items in List — [ with List — 11 :

List — 1 List — 11
a. Nartan Nirnaya i. Bhoja
b. Shringar Prakash ii. Sarangdeva
c. Bhava Prakash iii. Pundarika
Vitthal
d. Sangit Ratnakar  iv. Sharada
Tanaya
Codes :
a b ¢ d
(A) i v 1 il
B) 11 1w v i
©) i 1 iv il
(D) i i 1 v

2. The most prominent writer scholar
of dance and its philosophy is

(A)
(B)
©)
(D)

Dr. V. Raghavan

Dr. P.S.R. Appa Rao
Dr. Arudra

Dr. Kapila Vatsyayan

3.  World Dance Day is celebrated on

(A)
(B)
©)
(D)

Paper-11

29" April
27" July

6" June

10™ February

Use Only For

Performing|
Arts
PAPERII

Compulsory
PART -1

Optional
Choose any
one

(DPART-II
(GDPART -1

4.  Match items in List — I with List —1II ;

List — 1
. Devilal Samar

a
b. Balwant Gargi

c. Shambhu Hegade
d. Mansukh Joshi
Codes :
a b
(A) i iv
(B) i il
(C) iii iv
(D) i i

1.

List — 11
Yakshagana

i1. Rajasthan

1i1. Bhavai
1v. Folk Theatre

i
v
il

v

5.  The world celebrates Theatre Day as

announce by UNESCO on

(A) 14" November

B) 27" March
(

(C) 23" March
(D) 31 October

6.  Pick the odd one out
(A) Girjja Devi
(B) M.S. Subbalakshmi
(C) Aban Mistry
(D) Siddheshwari Devi

D-65-12
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1. Candidates are required to answer all the 25 questions in Part-I, which are PAPERII

compulsory. They should also select any one from Part-II and Part-III and  |compulsory
answer all the 25 questions of that Part only. Each question carries two aRT'I
marks. CHose oy
2.  Candidates are required to mark clearly on the OMR Answer Sheet, the Part one
Number which they have selected. @pART-I
(G)PART -1
PART -1

Common to Dance / Drama / Theatre

1. g - 19 g 11 % oo i 4. A 19 g - 11 1 e i

e — 1 T - 11 Tt -1 w11
a. 797 fyof Lo a. SEMEATE FET i, T
b. SR vehTeT ii. RS b. Seta=T T ii. TR
c. TeT RIS iii. qeier faga c. IS iii. o
d. i TR iv. YRS d. TS St iv. A
HE: WS :

a b c d a b c d
(A) i iv i i (A) i v i il
B) i i v B) i i i v
© i i v (C) iii iv i i

(D) it i iy D) i i i v

2. I IR SU% TWH F g @ fage 5. AR % IO fove T fTee wAmE
3 ST &
(A) . 9l TqEe (A) 14 7T%=R
(B) . U.UH.3R. 310 7 (B) 279
(C) =i 3rFs (C) 234
(D) . HiTeT aeeE= (D) 31 3R
‘Toe S T FAET AT & forerm =1 gfa
(A) 29 3T INIRUSIEC
(B) 27 S[eé (B) TUH.UQ. TeaToteHl
(C) 65171 (C) o foet
(D) 10 R (D) fogvedt &t
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7.

10.

11.

Match items in List — I with List — 11 :

List—1 List —II
a. Shabana Azmi 1. Bindadin
Maharaj
b. A.R.Raheman ii. Padmabhushan
c. Devadas iii. Dada  Saheb
Phalke Award
d. Bhupen iv. Oscar
Hazarika
Codes :
a b c d
(A) i iv 1 il
B) i v i1 il
©) i v 1 il
(D) i i i iv

From the Epics, which character is
often used in Dance and Drama to
portray woman centric issues ?

(A) Draupadi

(B) Sita

(C) Gandhari

(D) Kaikeyi

Assertion (A) Madhyamakar
theatre is the best according to
Bharata.

Reason (R) : It has sufficient

capacity for audiences.
(A) (A)istrue, (R) is false.
(B) (A)is false, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is true.

Dr. Karan Singh is the Director
General of

(A) IGNCA (B)
(C) CCRT

ICCR
(D) SNA

Assertion (A) : Pratyahar is one part
of Purvaranga.

Reason (R) : Instruments are put in
a proper place in Pratyahar.

Code :

(A) (A)istrue, (R) is false.

(B) (A)is false, (R) is true.

(C) (A)is false, (R) is false.

(D) (A)is true, (R) is true.

Paper-11

12.

13.

14.

15.

Identify the correct sequence :

(A) Bhatta Lolata, Shankuka,
Abhinavagupta, Bhatta Nayaka

(B) Bhatta Lolata, Bhatta Nayaka,
Shankuka, Abhinavagupta

(C) Bhatta Lolata, Shankuka,
Bhatta Nayaka, Abhinavagupta

(D) Abhinavagupta, Bhatta
Nayaka, Bhatta Lolata,
Shankuka

Assertion (A) : The Karana-s and
Angahara-s are part of
Purvaranga of Natyashastra.

Reason (R) Both  provide
decorative embellishment to
Natya.

(A) (A)istrue, (R) is true.
(B) (A)is false, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is false.

Identify the correct sequence :

(A) Light of Asia, Charandas
Chor, Tugluque, Krishnay
Tubhyam Namh

(B) Krishnay Tubhyam Namh,
Light of Asia, Charandas
Chor, Tugluque

(C) Light of Asia, Charandas
Chor, Krishnay Tubhyam
Namh, Tugluque

(D) Light of Asia, Krishnay
Tubhyam Namh, Tugluque,
Charandas Chor

Assertion (A) : Aharya Abhinaya is
predominant in Kathakali.

Reason (R) : Noh and Wayanga
Wong have extensive make up.

(A) (A)istrue, (R) is false.
(B) (A)is false, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is true.
D-65-12



7.

10.

11.

gt — [ ¥ et — 1 1 eI ity
i | = — 11

a. VAT SASTH i [SEEH WENS

b. TR WA {i. USHYEUl

c. IO iii. ST&T AEST HIeTh

TR
d. = iv. 3T
FE:

a b
(A) 11 iv
B) it iv 11l
(C) i1 v il
(D) i1 i 1 1v
I R AT | A Hisd g2 fT@m &
T T § 9 TR aid &1 S
TR Bl € 2
(A) Il
(B) g
(C) TIERt
(D) et

W(A):"T{?fa'?\ﬂjw{ HHH AT
T TIE FaeT SUFHT & |
HROT (R) : 3TH IHT ! AT G

BT |
(A) (A)THE, (R) AT |
(B) (A)3WHE, (R)TAE |
(C) (A)3\AE, (R) AT |
(D) (A)IRR)FTE |

(A) FERTHHT
(B) 3T &1 9@t o
(C) wrdemA

(D) T AT STRIEH

d

i

A )

HAT (A) : TARR T H T S E |

HROT (R) : TUH awEE & Hvad
T WG AT Y |

T :

(A) (A)TAE, (R) SHAE |

(B) (A)3@AE, (R)TTE |

(C) (A) AT, (R) AT |

(D) (A)TFE (R)TAT |

D-65-12

12.

13.

14.

15.

el T e
(A) Hselloole, g, SIEd T,

HEATID
(B) 9gelleeie,

AN

(C) wgeleeie,
AT
(D) AT, WA, HgAle,

NE2D

HgAEH, I,

ek, WA,

FUT (A) @ HOT 3 SRR A
% QAT H I |

HROT(R) : T 1T S TG A ¢ |

(A) (A)IRR)FTE |

(B) (A) W R (R)FAE |

(C) (A)3R(R)WHE |

(D) (A)FF (R) AT |

e S 12D
(A) e 3% TRMEL WORE 9,
eI, FOT TIT T

(B) $UME TEHE 9, ®Ee 3%
TR, TRORTE =R, e

(C) e i UMl wRURE 4R,
FOMG TIT T, TeAH

(D) ©MES 3% TR, FOME TR
T, A, TRORH 9X

FHUA (A) : FAFCT H 3™ AT FH
T BT € |
HROT (R) : A7 3R 47 a7 7 Afyepaq
TN &It & |
(A) (A)TFE(R) AT |
(B) (A) AT (R)TAT |
(C) (A)3R(R)WHE |
(D) (A) IR (R)IATFE |
Paper-11



16.

17.

18.

19.

20.

Pick the odd one out :

(A) Minaxi Sheshdri
(B) Madhuri Dikshit
(C) Vaijayantimala Bali
(D) Vidya Balan

Pick the odd one out :

(A) Sri Lanka-Kendyan dance
(B) Thailand-Khon

(C) China-Peking Opera

(D) Bali-Royal Ballet

Match items in List — I with List — 11 :

List—1 List — 11
a. Zakir Hussain 1. Sitar
b. Vikku ii. Mohan Veena
Vinayak Rao

¢. Shahid Parvez iii. Ghatam

d. Vishva Mohan 1v. Tabla
Bhatt

Codes :

a b c d
(A) iv i1 1 il
B) i i v
©) i v 1l
(D) i i 1 1v

In context of Natasutra, the word
Nata is first used in

(A) Astadhyayi of Panini
(B) Nrutyadhyaya of Ashokmalla
(C) Bharata’s Natyashastra

(D) Natya Darpana of
Ramachandra Gunachandra

Assertion (A) : The Devil dances of
Sri Lanka is similar to the
Bhutam of Tamil Nadu.

Reason (R) : Both are part of Tamil
culture.

(A) (A)istrue, (R) is false.

(B) (A)is false, (R) is true.

(C) (A)is false, (R) is false.

(D) (A)is true, (R) is true.

Paper-11

21.

22,

23.

24.

25.

Assertion (A) : The Tritala and
Aditala are much used in
Dance.

Reason (R) : Dance is a simple art
form.

(A) (A)istrue, (R) is false.
(B) (A)is false, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is true.

The status and facilities given to
Dancers and Actors is given in

(A) Arthashastra

(B) Kamasutra

(C) Shukraniti Sar

(D) Natya Lakshan Ratna Kosha

The most important Theatrical light
device is

(A) Spot light
(B) Fresnel

(C) Flood light
(D) Strobe light

The technical instrument a must for
sound on stage is

(A) Amplifier
(B) Speakers
(C) Mixer

(D) Microphone

Match items in List — I with List — 11 :

List—1 List — 1T
a. Rasalila i.  QGujarat
b. Dashavtar 1. Mathura
c. Giddad iii. Maharashtra
d. Padhar iv. Rajasthan
Codes :

a b ¢ d

(A) iv i i i
B) i i iv i
© iii iv i i
(D) iii i i v
D-65-12



16.

17.

18.

19.

20.

foom =t i3 -
(A) Hi=Tett TS
(B) et <iferet
(C) SSiTer STeft
(D) fer=m s

oo =6t g

(A) Sficieht — FAtea g
(B) 9rels — @A

(C) <9 — ufshT SRy
(D) el — T e

gt — 1 1 gt — 1 9 et i :
T -1 = — 11
a. SR ga i. AR
b. fasp foames ii. = o
RiE)

c. ¥ieg o iii. g7
d. foverieT g iv. dEern

T

(=%

a b c d
(A) iv i 1 i
B) i 1 v i
C) 1w v 1 il
(D) iii i 1 iv

FegT % G § I I T WA foar
™

(A) OO & STeereATEl H

(B)  3TRIIHHTEAT o Joameard o

(C) WA & =R |

(D) TS U & AR H

FUA (A) : HEH wOfaA T
ATEATg o 9 T % TAA & |

HROT (R) : T AMHA TEHA H T E |

(A) (A)TTE, (R)STAT |

(B) (A)IEAE, (R)TATE |

(C) (A)3R(R)MTHE |

(D) (A) IR R)THIE |

21.

22,

23.

24.

25.

FUA (A) : BT 3R tfeder # F&
H Sgd YA BT ¥ |
HROT (R) : T TH WA FeAl § |
(A) (A)TAE, 3R (R) AT |
(B) (A)3TAE, 3I(R)TAT |
(C) (A) IR (R) AT |
(D) (A)IAX(R)TAE |
ek 31X Afaret t feafa v gfaen
FINH G T E |
(A) TS |
(B) Hmgad
(C) IhAId O |
(D) TS &I ITehieT H
T & o0 Hates SURT UehTeT o6
e &
(A) wiT R
(B) ThIMG
(C) IS orEe
(D) @ e
Te & T e s gaitas e
A Y
(A) TEEAERR
(B) diwg
(C) =R
(D) TESHIEM
T — 19 gt — 11 1 e ifs
T -1 = — 11
a. et i. TR
b. SRR ii. W
c. s iii. HERTE
d. Ter 1v. ISR
B
a b c d

(A) iv i i i
B) i i iv i
©) i iv i i
(D) iii i i v



26.

27.

28.

29.

The form of dance which uses
extensive Angika Abhinaya is

(A) Mayurbhanja Chhau
(B) Saraikela Chhau

(C) Kshatriya

(D) Purulia Chhau

Which dance form uses the special
walk called ‘Goyedi’ ?

(A) Odissi

(B) Kolyacha nach
(C) Mohiniattam
(D) Kuravanji

Assertion (A) : The Nayika-s are
used extensively in all Indian
classical dance styles.

Reason (R) : According to Bharata,
Khandita and Vipralabdha may
not be performed on the stage.

(A) (A)is true, (R) is false.
(B) (A)is false, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is true.

Rimli Ibrahim was awarded the best
male dancer for 2011 by

(A) ICCR

(B) Natyakala
(C) SNA

(D) Attendance

PART - 1I
DANCE

30.

31.

32.

b. Aditi 1i.

Match items in List — I with List — 11 ;

List — 1 List — 11
a. Nalanda 1. Pratima Gauri
b. Kadamba ii. Kanak Rele
c. Darpana 111, Kumudini
Lakhia
d. Nrityagram iv. Mrunalini
Sarabhai
Codes :
a b c d

(A) i i v
B) i iv i i
©) i i v i
(D) ii

il

m ivoi

Assertion (A) : Trishla is used in
Kathakali.

Reason (R) : It is used for changing
a scene.

(A) (A)is true, (R) is false.
(B) (A)is false, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is true.

Match items in List — [ with List — 1T :
List -1 List — I1
a. lleana i. Bharatanatyam
Chitaristi

Odissi
Mangaldas

c. Rama
Vaidyanathan

d. Prity Patel
Codes :

a b c d
(A) 11 v i
B) i iv
(C) i v i i
(D) v i 1

iii. Manipuri

1v. Kathak



26. T W TE HF W €Y ¢ HE WA
HifiTeh AR 1 TET e € 2
(A) 7O B%
(B) e 8%
(C) &HmE
(D) T 3%

27. 9 H %9 €0 § G99 =G H U
I & o e wed € 2
(A) siifedr
(B) wicrars A
(C) ifeftemgn
(D) it

28. HUA (A) : YRAE ST T Bl T
STt | AMIehTeT 1 WA AT
w9 q T s € |

FHROT (R) : I F IR Grear 3R
favetedr & ©S W wd T
HT THT & |

(A) (A)TFET(R) AT |

(B) (A) AT (R)TAT |

(C) (A)3HIET(R) AT |

(D) (A)TIER)TAE |

29, TAfAtEd ¥ ¥ f59s% gR1 a9 2011 &
T as= qey Td% % fow et
TEH hl T fohar 7T 2

(A) o€ & ° e
(B) e
(C) WwT
(D) o=

~1 = — 11
a. ATeT=T i, i TR
b. FHEHE ii. %%
c. gYOT iii. AR TG
d. Jemm iv. Gofer TR
wS:
a b c d

(A) i i iv i
B) i iv i i
©) i i v i
(D) i i v i

31. & (A) : BEmen @ vE wusdet
o STaT € |

HROT (R) : THH YA T¥I-IRGA &
Tt fepam ST € |

(A) (A)FFE(R) ITAE |
(B) (A) AT (R)TAT |
(C) (A)TAE(R) ITHTE |
D) A)TIER)TAE |

32. Gt — 1% gl — I1 % 97 GAferd i ;

et -1 = — 11
a. TOFTfEEIRG i SRaAedd
b. T WelRTe i, sfifedtr
c. 9 AT iii. AToTRY
d. Wifq 92t 1v. IH
HE:

a b c d
(A) i1 iv 1 i
B) i iv il i
(C) ii iv i i
(D) iv i i i



33. Identify the correct sequence,
starting from North to South :

(A) Karathi, Duhmal, Mataki,
Kummi

(B) Duhmal, Kummi, Karathi,
Mataki

(C) Duhmal, Mataki, Karathi,
Kummi

(D) Duhmal, Karathi, Mataki,
Kummi

34. Choose the odd one :
The Gharana’s of Kathak are
(A) Lucknow (B) Banaras
(C) Raigadh (D) Delhi

35. Match items in List — [ with List — 11 :

List—1 List — 11
a. Minakku i. Hanuman
b. Paccha ii. Ravana
c. Katti iii. Rama
d. Tadi iv. Sage
Codes :

a b ¢ d

(A) iii i iv i
B) iv Qi i i
C) iv i i i
D) i i v iii

36. Assertion (A) : ‘Masak’ is used in
Kathak for showing the That.

Reason (R) : It helps in breath
control.

(A) (A)istrue, (R) is false.
(B) (A)is false, (R) is true.
(©) (A)is false, (R) is false.
(D) (A)is true, (R) is true.

37. Assertion (A) : The plays of Kalidas
has many descriptions of
dances.

Reason (R) : Chhalika was one of
the styles of that time.

(A) (A)istrue, (R) is false.
(B) (A)is false, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is true.

38. Match items in List — I with List — 11 :

List—1 List — 1T
a. Krishnattam  i. Kathak
b. Dasiattam ii.  Odissi
c. Mahari 1ii. Kathakali
d. Kathavachan iv. Bharatanatyam
Codes :
a b ¢ d

(A) i iv i ii
(B) iii iv Qi i
C) iv i i i

D) i 1 v i

39. Identify the correct sequence in
ascending order of Matra

(A) Rupak, Dhamar, Zaptala,
Tritala

(B) Zaptala, Rupak, Dhamar,
Tritala

(C) Rupak, Zaptala, Dhamar,
Tritala

(D) Tritala, Rupak, Zaptala,
Dhamar

40. The dress of female Manipuri dancer

is called
(A) Kamandi (B) Kumin
(C©) Kummi (D) Kikli



33. 3"5"{@ AR e SRA0T T FEl B 37. ®UA (A) : FIRMT % AeH °§ JAT H
S T A E |

(A) T, A, HEH, Tl FO (R) : ST 30 T F 1 I
(B) 4\, T, T, HeH! o |

(C) euet, Teal, FHM, Frr

(A) (A)TFE (R) FEIE |
(D) YA, H, T, HHE

(B) (A) WAL, (R)TAT |

34, foom =t g (C) (A)IEAE, (R) AT |
hereh oh SR & (D) (A)TFE, (R)TAE |
(A) @IS (B) RHE |
(C) e (D) feett 38. e — [0 G — 11 % 9 AT 1 ;
et -1 T - 11
> wﬂﬁ_lﬁ@‘ﬂa‘?wm a. FEH i w
a;ﬁ st b. IrEeTEH ii. entedt
=t -1 =it - 11
a. TE i, T c. W iii. FereRlcT
- d. HIE=A 1v. 9qareH
b. TR ii. qaor
c. iii. I :
d. @mer iv. 97 a b ¢ d
S : (A) i iv i i
a b ¢ d B) i iv i i
(A) iii i iv i (C) iv i i i
B) iv i i i (D) i i iv il

(C) iv i i i | |
D) i Qi v i 39. T % Sad §U hH H el A Fa
(A) TUF, YR, U, BT

36. U (A) : FIH H HEEH H TN AT (B) ST, 9, 4R, Femet

fe@™ o for fopan e &
HRT (R) : 369 va9 FE=07 § gean (C) ¥, SAIATA, 9, B

e & | (D) AT, T, ST, TR
(A) (A)FFE (R) FEAT |
(B) (A)3EAE, (R)FAT | 40. TOTRY HigHT TATRAT Sl TR T e & -
(C) (A)FFEAE (R) FTAE | (A) FE= B) Fw
D) (A)TIE R)THIE | (C) F=h (D) fepebet



41.

42.

43.

44.

45.

Match items in List — [ with List —1I :
List—1 List — 1T
Bharata i.  Shurparnakha
Lakshamana  ii. Shikhandi
Arjun iii. Manthara
. Bhima iv. Hidimba
Codes :

a b ¢ d
(A) 1 i1 v il
B) i 1 iv il
© 1w 1 i v
D) 1 1 v i

oo oo

The feet and wrist movements of
some of the SEA dancers are similar
to those seen in
(A) Kuchipudi
(C) Manipuri

(B) Jatra
(D) Odissi

The text written by Raigadh King
Shri Chakradhar Singh is

(A) Nritya Ratna Kosha
(B) Nartan Sarwaswam
(C) Nartan Nirnaya

(D) Abhinaya Navanita

The last Karana according to the
Natyashastra is

(A) Shakatasya

(B) Gangavataran

(C) Vishnukranta

(D) Lolita

Jathiswaram is the combination of
(A) Swara and Jaati

(B) Mridanga bols and Adavus
(C) Musical notes and Adavu bols
(D) Swara and Hasta

46.

47.

48.

49.

50.

Identify the correct sequence :

(A) Hasita, Smita, Uphasita,
Atihasita

(B) Smita, Uphasita, Hasita,
Atihasita

(C) Smita, Hasita, Atihasita,
Uphasita

(D) Smita, Hasita, Uphasita,
Atihasita

The Lambada dance of Karnataka is
performed during

(A) Sharad
(C) Navaratri

(B) Vasant
(D) Chaitra

‘Nadir dir dir dir Tom dir dir dir

Dhim ta Dhim Tanan’ ...... can be
words of
(A) Kirtanam (B) Tillana

(C) Varnam (D) Korvai
Identify the correct sequence :

(A) Matsya, Varaha, Parashurama,
Balarama

(B) Varaha, Matsya, Parashurama,

Balarama

(C) Matsya, Varaha, Balarama,
Parashurama

(D) Matsya, Parashurama,

Balarama, Varaha

Identify the correct sequence :

(A) Shanta Rao, Maya Rao, Ram
Gopal, Malavika Surukai

(B) Ram Gopal, Shanta Rao, Maya
Rao, Malavika Surukai

(C) Shanta Rao, Ram Gopal, Maya
Rao, Malavika Surukai

(D) Ram Gopal, Maya Rao, Shanta
Rao, Malavika Surukai



41.

42,

43.

44.

45.

Tt — 1 30 g — I1 % 917 GAferd i :

et -1 = — 11
a. Wd i. goumEn
b. &7 ii. ferget
c. I iii. HeRT
d. 9 iv. Tegmn
EAER

a b c d

(A) i i v i
B) ili i v i
©) @i i i v
D) i i v iii

FT TH.LT. (SEA) Tl & W 3I-

HATE & AT [ohdeh T9H &id ¢ 2
(A) praget (B) s
(C) wforg (D) aifsHt

TG % ST off ke 1 g et
TS e T &

(A) T T

(B) e Haw@q

(C) == form

(D) 3 FordT

AT % 3TAR Nl A &
(A) TMhdT
(B) TEARA
(C) fawphr=d
(D) @ferar

Sty fagor &

(A) @R SR AT

(B) HET ST AR areq

(C) wfsheT Fie 3T 3T aeT
(D) TR 3R &

46.

47.

48.

49.

50.

TEl HH 1T :-

(A) &faan, T, SueThad, stideraarn
(B) o, SuTia, g, Sifdgiadr
(C) T, gfire, sffeeiaT, Suergar

o o o o o
(D) TEHdT, BT, SURIEdT, (el

I I TS T oHaEH IRA TR
fopa e & 2

(A) IF (B) @9

(C) e (D) =

“feR fo¥ ¥ fox o fow fow feg e o
T L foheer et &

(A) i (B) faeermr
(C) um (D) g
TE HY AT

TEt A AT

(A) =T @, HET AL, JTEGT,
TTCITehT G&hs

(B) {HTMOlCT, A A, HEAT A,
ATATSIHT, GEHE

(C) =T Y&, THMO, HET T,
TTATaHT Gohe

(D) MU, HET T, =,
TTCITehT G&hs




26.

27.

28.

PART - 111
DRAMA/THEATRE

Match the items in List — I with the
items in List —1I :
List—1
a. Traditions of 1.
Indian Theatre

List — I
Balwant Gargi

b. Performance ii. Farley
Tradition in Richmond
India

c. Folk Theatre iii. Suresh
of India Awasthi

d. Indian Theatre iv. M.L.

Varadapande

Codes :

a b c d

(A) i1 v i i

B) i1 1 il v

©) v i1 1 i

D) i i v i

Assertion (A) : Mohan Rakesh’s
woman protagonists are strong
individuals who want to live
on their own terms.

Reason (R) They always rest
content with a drab,
mediocrish existence whatever
the consequences.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (R)is true, but (A) is false.

(D) (A) is true, but (R) is false.

Which is the correct sequence ?

(A) Tughlag, Nagmandala, The
Fire and The Rain, Yayati,
Hayvadana

(B) Nagmandala, Yayati, Tughlaq,
The Fire and The Rain,
Hayvadana

(C) Yayati, Tughlaq, Hayvadana,
Nagmandala, The Fire and The

Rain
(D) The Fire and The Rain,
Hayvadana, Tughlaq,

Nagmandala, Yayati

Paper-11
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29.

30.

31.

32.

c. Theatre Libre

She is the only director who writes
and directs OPERAS in Punjabi and
Urdu.

(A) Amal Allana

(B) Sheela Bhatia

(C) Neelam Mansingh Chowdhury
(D) Anuradha Kapoor

Pick the odd one out :
(A) Raktakarbi

(B) Visarjan

(C) Shesh Nahin
(D) Mukta Dhara

Match the items in List — [ with the
items in List — II ;

List -1 List — I
a. Bio 1. Matterson
Mechanics
b. Berliner 11. Antoine
Ensemble

i11. Meyerhold

d. Symbolism iv. Brecht
Codes :
a b ¢ d

(A) iii iv i i
B) i i i v
© i i i
D) iv i iv iii

Assertion (A) Brecht was
criticised by the progressive
activists for not using social
realism as his problem based
Epic Theatre failed to provide
solutions.

Reason (R) : Brecht did not want to
immerge his audience in
reality and wanted them to
‘cry tears from the brain’; to
absorb messages and ideas on
which they could act.

Codes :

(A) (A)istrue, (R) is false.

(B) (R)is true, (A) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

D-65-12



26.

27.

28.

gEt — [ & gE - 11 % 91y goferd
FIT
i |
a. YRAT T H i
TR
b. YRT T WM ii. B TS
I
c. YRA H oH {ii. T aep
T
d. R T
B
a b c d
(A) Qi iv i i
(B) 1 1 i 1v
©) iv i i i
D) i i iv i

= — 11
FeAa T

iv. TH.UA. SREATS

HUA (A) : TIET THI B AIHIST
Ao TTERTel BT & ST ST
STAR ST SFelid AT ae
T

HRUT (R) : T FHI AR, THI e
T T TEdl &, TR THH B oAl
R &t |

HIT:

(A) (A)RTR)IA TAE |

(B) (A) &R (R) 3 AT |

(C) (R)TA &, Al (A) @A T |

(D) (A)TH &, ABT (R) ST |

TE 3T AT 2

(A) T, ANTHEH, T R US § 3,
RRIGAREEE]

IS, FAMG, TTeIh, § HBET

0T T, g

I, A, A, ANTHS,

T HRR TS §

T W U T, FEEE, T,

JrTHE,

(B)
(©)
(D)
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29.

30.

31.

32.

TEAE a9 S ST (OPERA)
USTe R 3§ H fodr § SR S
EENEETGIRS

(A) 37T ST

(B) Sfie afean

(C) TeTq AHTEE Trert

(D) g Qe

faww =t 9w ;
(A) IR
(B) fagsH
(C) 99 &t
(D) T Era
Tt — [ & gat — 1 & 9 goferd
I -

et -1 =t — 11
a. 9 HhHEE 1. HIE
b. Sf R TEEA i1, TR
c. T forst iii. TREeE
d. TowEtere iv. ST
S :

a b C d
(A) i v i i

(B) i i i v

() i i il i

(D) iv i iv il

HAT (A) : & N SCATEAT, T
FIFHAT FRT AT FeTars
N T T fHT S % RO H
TE off, Mk 3T THRT ol
Tk /e aeE USH A H
A T |

HROT (R) : & 30 T o
SRR 7 &1 el gal &1 =ed
g dfcsh o8 ‘gheeE I H
forgeme T & difes 9T =9l
3R qTEATSTl ol AT H T
3 3T W A X T |

BT

(A) (A)TEIE(R) AT

(B) (R)FIE(A)IEAE

(C) (A)ARR)TH TTE

(D) (A) 3R (R) IHT 319 &
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33.

34.

3s.

36.

Which is the correct sequence ?
(A) Kanyadan, Ghasiram Kotwal,

Shrimant, Shantata ! Court
Chalu Ahe
(B) Shrimant, Shantata ! Court

Chalu Ahe, Ghasiram Kotwal,

Kanyadan
(C) Shantata ! Court Chalu Ahe,
Kanyadan, Shrimant,

Ghasiram Kotwal

(D) Ghasiram Kotwal, Kanyadan,
Shantata ! Court Chalu Ahe,
Shrimant

The ‘Image Theatre’ is conceived by
(A) Peter Brooke

(B) Richard Schechner

(C) Augusto Boal

(D) Elia Kazan

Which pair is NOT correctly

matched ?

(A) K.N. Panikkar— Revival of
Sanskrit
Theatre

(B) Badal Sircar —  Agit-prop
Theatre

(C) Anamika —  Gender-

Haksar Sensitive

Theatre

(D) M.S. Sathyu —  Parsi
Theatre

Match the items in List — [ with the
items in List — 11 ;

List -1 List — 11
a. Arms and The 1. Albert Camus
Man
b. Hedda ii. Luigi
Gabbler Pirandello
c. The Myth of iii. George
Sysyphus Bernard Shaw
d. The Rules of iv. Henrik Ibsen
the Game
Codes :
a b c d

(A) i v i i
B) i i iv i
© i il i v
D) iv i i iii
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37.

38.

39.

40.

Assertion (A) : The encounter with
the tradition has given rise to
new contemporary Indian
Theatre.

Reason (R) : The directors were
prompted by quest for identity
and search for roots.

Codes :

(A) Both (A) and (R) are false.

(B) (A)is true, (R) is false.

(C) (R)istrue, (A) is false.

(D) Both (A) and (R) are true.

Which is the correct sequence ?

(A) Creating A Role, The Empty
Space, Theatre of the
Opressed, The Floating Islands

(B) The Floating Islands, The
Empty Space, Creating A
Role, Theatre of the Opressed

(C) Theatre of the Opressed,
Creating A Role, The Floating
Islands, The Empty Space

(D) The Empty Space, The
Floating Islands, Creating A
Role, Theatre of the Opressed

The noted director who first
discovered the theatrical
potentialities of Dharmaveer

Bharati’s ANDHA YUG
(A) E. Alkazi

(B) Satyadev Dubey
(C) B.V.Karanth

(D) Ratan Thiyam

Which pair is not correctly matched ?

(A) Rabindranath — Shambhu
Tagore Mitra
(B) Vijay Tendulkar — Jabbar
Patel
(C) Girish Karnad - B.V.
Karanth
(D) Mohan Rakesh — K.N.
Panikkar
D-65-12



33.

34.

3s.

TET 3T IeRH i AT T 2

(A) FARH, TR FHiaard, S,
ST | SIS o] 3T |

(B) #iw=, W=l ! &iC 9] 3T,
IR SHiaTet, HARH

(C) vI=Ae ! S dTe] 3TE, FHARH,
o=, =R e

(D) =R AT, HAEH, T |
IS AT 3TE, S

(A) R TH

(B) e @&
(C) 37ted s
(D) Sferr HeE

T T JH FE&l Ak § el Hemr mar
T?

(A) HUA. uHER - Remeae
31T e
fordex
SAfTa-Tg
fordex

(C) oI gRR — Siex  ddfed
T

IR FoRieT

(B) a%el WHR

(D) wHE§.wEg -

36. A -1 & g — 11 % |F gofed

it

et -1
a. MY U & 1
B ERICCr
. § T 3w
fafgwa
d. TEH A®T

o

o

= — 11
i. THEE
ii. T Reet
iii. ST ST W

iv. &N To5

37.

38.

39.

40.

FUT (A) : W H AT HH H
HROT AT FHFHTAT TR T
T S G |

HROT (R) : 59T, TeT &1 Tl oA &
fore @ier 5T Ui & |

B

(A) (A) 3R (R) IH 3T € |

(B) (A)T= & (R) AT |

(C) R)TIT(A)ITAT |

(D) (A) 3R (R) I THE |

TEl 3TThH T E 2

(A) FpUlem U Tw, T wmE w9,
e % T e, T Tl
AMEATT

(B) T WAl 3MEeigq, § UHel W,
fpufen T W, PR o T
Sl rech

(C) ™RRT 3% T 3R, fhufer ©
A, T FAT 3eer—d, T T
peEe)

(D) T TS WY, T AT SMEeived,
fpufen T Iw, PR o T
Sl recy

urag e e gHe - aRdar %

ST I B A GIEATST F AR

T gagaH Ual o |

(A) T 3

(B) @eT 3o

(C) et H

(D) A ferm

DI T I el qh | Tel Heran T
g2

(A) TS SR — Iy fgm

(B) oo Agetat — SR Wt
(C) Rmrs#Ae - dtal. s
(D) HEATHAN  — HTA. R




41.

42.

43.

44.

Match the items in List — I with the

items in List —1II :
List — I
a. Movement

b. Composition

¢. Pantomimic
Dramatization

d. Picturization

Codes :

a b c
(A) i i i
B) i i iv
(©) i v i
(D) iv i ii

Assertion (A) :

List — 11

1. Visual Inter-
pretation  of
Each Moment

ii. Stage Picture
in Action

111. Rational
Arrangement
of Characters
on Stage

1v. Visual
Performance
of a Play

d
v
i
ii
iii

The schedule of

rehearsals can be considered
set and inviolable, irrespective
of the nature of the play.
Reason (R) : Each play demands its
own approach in scheduling

rehearsals.
Codes :

(A) Both (A) and (R) are true.
(B) (A)is true, (R) is false.
(C) (A)is false, (R) is true.
(D) Both (A) and (R) are false.

Choose the correct sequence :

Scene Analysis, Visualisation,

Composition, Picturization

Visualisation,

Scene Analysis, Composition

(A)
(B) Picturization,
(C) Composition,

Visualisation,

Scene Analysis, Picturization

(D)

Picturization, Scene Analysis,

Composition, Visualisation

It is the strongest Acting Area of the

stage.

(A) UP RIGHT

(B) UP CENTRE
(C) DOWN CENTRE
(D) UP LEFT

Paper-11
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Pick the odd :
(A) Jack — Scenery
(B) Hood — Light
(C) Foundation — Make up
(D) Flat — Property
Which one of the following is not
correctly matched ?
(A) Stanislavsky — An Actor
Prepares
(B) John Gassener— Producing the
Play
(C) Augusto Boal — Theatre of
Opressed
(D) Peter Brooke — Floating
Islands
Assertion (A) : The Theatre can not
exist without written script.
Reason (R) : The actors of Ancient
Italy could easily improvise
the scenario.
Codes :
(A) Both (A) and (R) are false.
(B) (A)is false, (R) is true.
(C) (A)istrue, (R) is false.
(D) Both (A) and (R) are true.
‘Orion Theatre Company’ was
founded by the noted dramatist
(A) Wole Soyinka
(B) Dario Fo
(C) Tom Stoppard
(D) Jean Jenet
Which is the correct sequence ?
(A) Radio, Theatre, Film, Television
(B) Theatre, Radio, Film, Television
(C) Film, Theatre, Radio, Television
(D) Radio, Theatre, Television, Film
Match the items in List — I with the
items in List —II :
List—1 List — 1T
a. Nora 1. Hamlet
b. Ophilia ii. Oedipus
c. Jockasta iii. Othello
d. Desdimona iv. Doll’s House
Codes :
a b ¢ d

(A) iv i i i
(B) iii i iv i
© i i i v
(D) i iv i i

D-65-12



41. A — [ GEt— 11 & T Goferd ShisT

42.

43.

44.

= -1 = 11
a. TaH< i T@E T @
qRATCHS 3TY-5e
b. FESIRE i, T Tt o
c. tifafrs il TTHw W GfEt @
SEICESNE FTFTYOT SaeT
d. TFRESeE iy, Ae® W gEeTE
TRCThTT
A
a b ¢ d

(A) i i il v

B) i i iv i

(C) iii iv i il

(D) iv i i i

FUA (A) : ACH F WET H A W
TR e o THEaRen Hived
T ST Gl & 3 3H 9T T
fepan ST HpT &

FHROT (R) : Reder o I0g-grol o)
hid HHT Udch HAldeh <hl YAl
Teh SHI0 BT € |

BT

(A) (A)SRR)IATFE |

(B) (A)TFE(R) AT |

(C) (A) AT (R)TAT |

(D) (A) 3R (R) IHT 3 € |

Tl TR T T B ;

(A) ¥F e, e,
RS ISINEMECEeHES N

(B) fuereRTeseM, fasjaretesivr, €=
TAITATE, SFHEsTe

(C) Frisie, forjaremeeree, i
U, foereesem

(D) foawesiom, €W UAfaraw,
FHIESIIIH, faTererestoT

ST 1 e TETedl 31T & BT &
(A) 3T
(B) 310 ¥=X
(C) T=H I=X
(D) o TR

45.

46.

47.

48.

49.

50.
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foom =t gfT
(A) S
B) g
(C) IS=y¥H
(D) wie

I TE HeA el & 2

(A) R —Gwﬁﬁgﬁ
(B) SHTRR - W
(C) I ad  — fodex offw
IS
EE?JT-T(A) Mg & o1 T Hee

RO (R) : WW%WW@
g ® uEfd ey fE %
AT A H U S |

EaER

(A) (A) 3T (R)THT @I |

(B) (A)3WAE, (R)TAE |

(C) (A)TFE, (R) AT |

(D) (A) R R)IATAFE |

‘MR e HrAr o SO Uis

qMEHHR = i of ?

(A) dTet Hifg=hr

(B) eIl

(C) 2\ qurg

(D) W ~&He

TE HY I T2

(A) e, Rmez, fhew, oo
(B) fauex, e, fthew, Sefifas
(C) fwem, fauey, Yeat, SetifasH
(D) feat, fauex, efitasH, ey

a;ﬁ-la%uﬁa%a;ﬁ-ﬂa%nﬁ%
rer gHfeTd g
et — 11
T

e -1
a. Sl 1.
b. 3MRfem ii. steT®
c. ST iii. e
d. et iv. o9 8=y
HE:
a b ¢ d
(A) iv 1 i il
B) i1 i v
<G 1 i i v
D) 1 v 1 i

TR

e
T -370
Plerl

(D) X 3%
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